Trig 8.4

(do¥) _ \
Find the inner product of two vectors — O —_
Find the cross product of two vectors
Determine whether two vectors are perpendicular

Quiz 8.3-8 .4 is W&ked. Mo,
MCT 8.1-8.4 Tauws. T LS.

s ab=ba?
s axb = bxa?

whiteboards



Find each inner product and state whether the vectors are perpendicular. Write
yes or no.

11.(4, 8) - (6, —3) 12. 3, 5) - (4, —2) 13. {5, —1) - (—3, 6}
14.(7, 2) - (0, —2) 15. (8, 4)-(2, 4) 16. 4,9, —3)-(—6, 7, 5)
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Find each cross product. Then verify that the resulting vector is perpendicular to

the given vectors. + - 4
v .
21.(0, 1, 2) X 1_‘1_/4 =5 N 22. (5,2,3) x (—2,5,0) %Cmo
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291 (0, -2,2), (1,2, —-3),and (4,0, —1)

T o~
Points in the plane form vectors \ﬁ ><
~ | (multiple answers are possible...
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